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The definition of ‘yield of product C’ or ‘per-pass yield of product C’ used in this article refers to the ‘molar flow of product C (F¢
for example of product MeOH) divided by the total outlet product stream (Frougiet)’, OF Fo/Froutier X 100 (in mol%). It can other-
wise be called the ‘product stream concentration’.

The above is not a precise definition of ‘yield of product C’ or Y, for which a precise definition is the molar flow of product
C (F¢) divided by the initial molar flow of reactant A (Fao) or Fo/Fao % 100 (in %).

The authors regret using the former imprecise definition, which has been used consistently throughout the article and the
ESI.

The following sentences should also be changed as follows:

On page 346, right column, third paragraph, “However, this SV represents a 95% reduction in throughput compared to the
best (CO-rich feed) case, with 70% reduction in MeOH yield”. should be changed to:

“However, this SV represents a 95% reduction in throughput compared to the best (CO-rich feed) case, with 70% reduction in
COy conversion to MeOH”.

In the same paragraph, “The overall disadvantage of the CO,-rich pathway by taking the throughput and yield into account is
98.5% less productive compared to the best CO-rich case”. Should be changed to: “The overall disadvantage of the CO,-rich
pathway by taking the throughput and COy conversion into account is 98.5% less productive compared to the best CO-rich case”.

On page 347, left column, first paragraph, “The intermediate-CO feed has 35% less yield and 50% less throughput for an
overall disadvantage of 68%”. Should be changed to “The intermediate-CO feed has 35% less COx conversion and 50% less
throughput for an overall disadvantage of 68%”.

The Royal Society of Chemistry apologises for these errors and any consequent inconvenience to authors and readers.
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